Assembly Instructions

SMARTCASE™ S7xx with front USB

Version V1.1

kontron



Contents

1. SMARTCASE™ S7XX: MOOEI OVEIVIEW ...cuueiiiiiiiiiiiiieite ettt ettt ettt ettt site sttt e sate s bt e saeesabeeesatesbeeenneesbaeenseenane 3
2. Delivery Kit & ACCESSONIES: SCrEW OVEIVIEW .....c.uuveeeiiieeeeireeeeiieeeestteeeessseeesssteeeastaeesssssesessssesesssssssssssssesssseenns 4
] =Y o R o =T o F= L T Y= V=T = T SN 6
4. Step 2: Motherboard ASSEMDIY .......co.uiiiiiiii ettt 7
5. Step 3: Installing Riser Card and HDD/SSD (OPtiONal).......ceeeeeienierienesiieieeceteie ettt s sre e e aens 9
6.  Step 4: Installing internal DC-in Module (OPLIONAI) .....eiiiciiiieiiie e e e e e e e e s areeeeas 9
7. Step 5: Crossbar & Front USB ASSEMDBIY ......cooiuiiiiiiiieiii ettt sttt st s e nee e 10
8. Step 6: ClOSING the Chassis...c..uiiiieiiii ettt ettt e st b e s bt e bt e sbe e e saeesbeeenneenane 11
9.  Step 7: Adding Stands (Chassis FEEL) .....uiiiiiiiiiiiieccciee ettt e et e e e et e e e eate e e e eabae e e eabbeeeentaeeenanaeas 12
10. Step 8: Adding WallMOUNT BraCKeTS .....c.uuiiieiiiieceiiee ettt e e e e st e e e e taa e e s abaeeeentaeeeessaeessssaeaeansseeennnns 13

11. Step9:

Adding Rear USB-C Cable (OPTIONaI) ......cecuiiierieiieriierie ettt st sttt st saeesaees 14

Technical data are subject to change without prior notice. Kontron accepts no responsibility with regards to
technical or editorial mistakes or omissions.

// 2 of 15

V1.1 www.kontron.com



1. SMARTCASE™ S7xx: Model Overview

- Supported
SMARTCASE Motherboard Note
DC-IN: 8V-34V (5A max./65W max.)
via external motherboard connector
$700 D3543-Sx Compliance with IEC 62368-1 according clause 6.2.2. to power source category PS2
Datasheet o . (“Limited Power Source”) required!
=ALasnes Intel® GeminiLake Optional: Integrated PSU module $26361-F5000-P004
(Input 100-240V; Output 12V/65W)
Datasheet $26361-F5000-P004
DC-IN: 8V-34V (5A max./65W max.)
D3713-Rx via external motherboard connector
S711 D3713-Vx Compliance with IEC 62368-1 according clause 6.2.2. to power source category PS2
Datasheet (“Limited Power Source”) required!
zalasheet AMD Ryzen™ Optional: Integrated PSU module $26361-F5000-P004
Embedded (Input 100-240V; Output 12V/65W)
Datasheet $26361-F5000-P004
D3433-S
o via DC-In connector integrated in S720 chassis (includes an EMI filter for
Intel 12V supply voltage)
$720 SkyLake/KabyLake Compliance with IEC 62368-1 according clause 6.2.2. to power source category PS2
Datasheet (“Limited Power Source”) required!
D3633-S Optional: Integrated PSU module S26361-F5000-P004
D3634-S (Input 100-240V; Output 12V/65W)
Datasheet $26361-F5000-P004
Intel® CoffeeLake
D3713-Rx
D3713-Vx DC-IN: 8V-34V (5A max./65W max.)
o via external motherboard connector
$730 AMD Ryzen Compliance with IEC 62368-1 according clause 6.2.2. to power source category PS2
5 h Embedded (“Limited Power Source”) required!
Langalizst Optional: Integrated PSU module $26361-F5000-P004
K3931-Nx (Input 100-240V; Output 12V/65W)
Datasheet S26361-F5000-P004
Intel ADL-N

This document covers following chassis versions:
e SMARTCASE™ S700 Rev. 02
e SMARTCASE™ S711 Rev. 02
e SMARTCASE™ S720 Rev. 02
e SMARTCASE™ S730 Rev. 01

// 3 of 15

V1.1 www.kontron.com



https://ftp.kontron.com/main.html?download&weblink=3cb83a90a99c51160d2aa1f1f34cc340&subfolder=Products/Accessories/EoL%5FComponents/SMARTCASE%5FChassis%2DKit%2DSolutions/SMARTCASE%5FS700&realfilename=DS%5FSMARTCASE%5FS700%2Epdf
https://ftp.kontron.com/main.html?download&weblink=3cb83a90a99c51160d2aa1f1f34cc340&subfolder=Products/Accessories/PSU%5FAC%2DAdapter/F5000%2DP004%5FInternal%2DPSU%2DKit%5F12V%4065W&realfilename=DS%5FF5000%2DP004%5FInternal%2DPSU%2DKit%5F12V%4065W%2Epdf
https://ftp.kontron.com/main.html?download&weblink=3cb83a90a99c51160d2aa1f1f34cc340&subfolder=Products/Accessories/SMARTCASE%5FChassis%2DKit%2DSolutions/SMARTCASE%5FS711&realfilename=DS%5FSMARTCASE%5FS711%2Epdf
https://ftp.kontron.com/main.html?download&weblink=3cb83a90a99c51160d2aa1f1f34cc340&subfolder=Products/Accessories/PSU%5FAC%2DAdapter/F5000%2DP004%5FInternal%2DPSU%2DKit%5F12V%4065W&realfilename=DS%5FF5000%2DP004%5FInternal%2DPSU%2DKit%5F12V%4065W%2Epdf
https://ftp.kontron.com/main.html?download&weblink=3cb83a90a99c51160d2aa1f1f34cc340&subfolder=Products/Accessories/SMARTCASE%5FChassis%2DKit%2DSolutions/SMARTCASE%5FS720&realfilename=DS%5FSMARTCASE%5FS720%2Epdf
https://ftp.kontron.com/main.html?download&weblink=3cb83a90a99c51160d2aa1f1f34cc340&subfolder=Products/Accessories/PSU%5FAC%2DAdapter/F5000%2DP004%5FInternal%2DPSU%2DKit%5F12V%4065W&realfilename=DS%5FF5000%2DP004%5FInternal%2DPSU%2DKit%5F12V%4065W%2Epdf
https://ftp.kontron.com/main.html?download&weblink=3cb83a90a99c51160d2aa1f1f34cc340&subfolder=Products/Accessories/SMARTCASE%5FChassis%2DKit%2DSolutions/SMARTCASE%5FS730&realfilename=DS%5FSMARTCASE%5FS730%2Epdf
https://ftp.kontron.com/main.html?download&weblink=3cb83a90a99c51160d2aa1f1f34cc340&subfolder=Products/Accessories/PSU%5FAC%2DAdapter/F5000%2DP004%5FInternal%2DPSU%2DKit%5F12V%4065W&realfilename=DS%5FF5000%2DP004%5FInternal%2DPSU%2DKit%5F12V%4065W%2Epdf

2. Delivery Kit & Accessories: Screw Overview

Assembly Screws

Mandatory
Type Amount Assembly Torque Note
M2.5 x 4mm
4 0.4Nm for wall n_nount_brackgt assembly
l (delivered in plastic bag)
M2.5 x 5mm
‘ 4 0.4Nm for chassw foot as.sembly
c I (delivered in plastic bag)
M2.5 x 6mm
screws for optional USB-C cable
2 0.4Nm (included in cable kit F5000-K013)
(for SC-S730/K3931-N only)
4 for motherboard assembly
M3 x 4.5mm (delivered in plastic bag)
) for chassis top cover assembly
(delivered in plastic bag)
for assembly of optional internal PSU module to
1 crossbar (S26361-F5000-P004)
(delivered in plastic bag)
1 0.6Nm for assembly of DC-plug holder
(delivered in plastic bag, SC-S700/SC-S711 only)
for assembly of drive/fan carrier
1 . . L
(pre-installed in chassis kit)
1 for assembly of crossbar (riser card holder)
(pre-installed in chassis kit)
for assembly of PCle slotbracket
1 . . L
(pre-installed in chassis kit)
M3 x 3mm
@ 4 0.25Nm for 2.5. drlvg/SSD z?ssembly
k (delivered in plastic bag)
M3 x 3.2mm
x Screw for M.2 SSD/WLAN module assembly
) 0.2Nm .
\ (pre-installed on motherboard)
M3 x 3mm
§ Hexagon bolt (“assembly nut”) for
*) 0.3Nm M.2 SSD module assembly
'\ (pre-installed on motherboard)
// 4 of15 V1.1 www.kontron.com




M2 x 7.5mm

Screw for Mini-PCle module assembly

e *
m ) 0.25Nm (pre-installed on motherboard)
COM screws
UNC4-40 .

N 2 0.6Nm Screw for optional COM cable
% ’ (included in cable kit S26361-F5000-K005/-K010)
M8 x 0.75mm

- Screw nut for DC-In connector
1 0.6Nm (for SC-S711/S730; pre-installed on motherboard D3713

and D3723)

*) Amount depends on motherboard model

Note: Actual screw models may differ from pictures shown above!

// 5 of 15

V1.1

www.kontron.com




3. Step 1: Preparing the Chassis

The chassis top cover can be removed w/o uninstalling any screws, just slide the top cover forward
and then pull it upwards.

Top Cover

crossbar screw
Cover

After removing the top cover:

»  Unpack the accessories (content depends on SMARTCASE™ S7xx model).
»  Remove the crossbar (“risercard holder”) screw and remove the crossbar carefully
»  Remove the drive/fan carrier screw and remove the carrier by sliding it to the front

DC-In EMI filter module
(SC-S720 only)

SMARTCASE™ S700
(similar to $711/5730)

Screw for drive/fan
carrier assembly

,,Crossbar”

includes power switch/cable &
LED, Intrusion switch/cable, and
dual USB 3.2 genl ports incl.
USB cable

SMARTCASE™ S720 rear view
with integrated EMI filter / DC-Input

// 6of15 V1.1 ' ‘Www.Kontron.com



4. Step 2: Motherboard Assembly

Note: Before assembling the motherboard into the chassis, it's recommended to install the optional
onboard components like processor, heatsink, memory, M.2 modules, etc.

Detailed notes/instructions concering onboard component assembly are available in the related
motherboard TechNotes documents.

The SMARTCASE™ S7xx chassis provides several breakout covers for the rear I/O connectors, which must be
removed before inserting the motherboard, additional COM-ports or a WLAN antenna.

Make sure to remove the appropriate covers, dependent on the motherboard version.

An appropriate screwdriver is recommended for removing these covers.

USB  DisplayPort coM Antenna
(sample breakout covers)

1. Slide in the motherboard carefully
towards the rear I/O apertures

2. Move the motherboard carefully
down to the final position

// 7 of 15 V1.1 www.kontron.com



Push down the motherboard carefully while the four mounting holes fit onto the chassis nuts.
Assemble the red marked four mounting screws M3 x 4.5.
Mandatory torque = 0.6Nm

»  Usage of internal power cable (SMARTCASE™ S720 only)

12V Power Connector Motherboard connectors
fi fil dul SATA Power (Multirail resp. 12V CPU)
F rom EMI filter module or Connectors p.

internal 12V PSU module)

// 8 of 15 V1.1 www.kontron.com



5.

Step 3: Installing Riser Card and HDD/SSD (optional)

Insert the optional riser card before assembling
the drive/fan carrier.

The drive/fan carrier provides 4 mounting holes
(red circles) in order to assemble a 2.5” drive or SSD.
Use the four M3 x 3.0 screws and plug in the
SATA/Power connectors.

(Mandatory screw torque = 0.25Nm)

Lock the drive/fan carrier by a M3 x 4.5 screw.
(Mandatory torque = 0.6Nm)

6.

Screw to lock
drive/fan carrier

Step 4: Installing internal DC-in Module (optional)

1)
2)
3)
4)

5)

! “l\‘l‘\nll;l\lllh\,“

3

(DC-In Module S26361-F5000-P004 with internal power cable)

Remove PCle slot bracket and insert DC-In module
Hook of crossbar must fit to recess of DC module
Fix metal sheet of DC modul to crossbar by screw
Connect internal power cable between DC module
and motherboard (internal DC-In connector)

Note: For SC-S720 specific internal power cable (included in
chassis kit) has to used. Instead of filter module the DC-In module
has to be connected.

In order to avoid any misuse, the external DC-In 1

connector of the motherboard respectively DC-In
filter (SC-S720) should be closed by the rubber included in $26361-F5000-P004 ‘

“Rubber” to close

Assembly screws for #1 and #3: M3 x 4.5 unused DC-In connector

(Mandatory torque = 0.6Nm)

// 9 of 15 V1.1 www.kontron.com



7. Step 5: Crossbar & Front USB Assembly

In order to assemble the crossbar, connect the - . e

power button cable and intrusion cable of the

crossbar to the appropriate connectors of the

installed motherboard (see motherboard
TechNotes document for connector details).

Install the USB cable of the crossbar to
the appropriate USB 3.2 genl connector
of the motherboard. Consider the cable
routing; severe kinking of the USB cable
must be avoided.

Position the crossbar on the chassis.
Consider the correct locking of the riser
card, if installed (yellow circles).

Take care of the correct positon of
the crossbar front hooks (blue circle),
and install the rear crossbar screw
M3 x 4.5mm.

(Mandatory torque = 0.6Nm)

(rear crossbar screw)

// 10 of 15 V1.1 www.kontron.com



8. Step 6: Closing the Chassis

Slide the cover on top of the chassis while pushing it backward.
Some slight pressure may be required.

Close the chassis cover using two screws (M3x4.5) included in the SMARTCASE™ chassis kit.
Mandatory torque: 0.6Nm

For SMARTCASE™ S700, SMARTCASE™ S711, or SMARTCASE™ S730 the DC-In lock can be installed;
screw M3x4.5
Mandatory torque: 0.6Nm

// 11 of 15 V1.1 www.kontron.com



9. Step 7: Adding Stands (Chassis Feet)

»  The stands included in the chassis kit can be used for horizontal or vertical chassis operation

»  The feet are assembled by snap-in plastic notches while gently pressing the two lockings (consider
snap-in direction as shown below).

> Secure the stands by four screws M2.5 x 5. Mandatory torque: 0.4Nm

Foot assembly for horizontal operation (Bottom view)

Foot assembly for vertical operation (Bottom view)

Note: Vertical operation is supported in shown orientation only (upside down not possible)

// 12 of 15 V1.1 www.kontron.com



10. Step 8: Adding Wallmount Brackets

The chassis kit includes two wallmount brackets for horizontal or vertical use, which are assembled by four

screws M2.5 x 4.
Mandatory torque: 0.4Nm

Wallmount bracket assembly at bottom side Wallmount bracket assembly at side wall

// 13 of 15 V1.1 www.kontron.com



11. Step 9: Adding Rear USB-C Cable (optional)

For SMARTCASE™ S730 and K3931-N motherboard, an optional USB-C extension cable (F5000-K013) can be
installed.

The cable connector has to be installed to the onboard USB 3.2 gen2 header (20 pin Key-A), and the USB-C
connector is assembled to the rear I/O of the chassis. The appropriate breakout cover has to be removed
first.

This USB-C port provides up to 3A (5V).

Key-A header for rear
USB-C extension cable

USB header for front
USB extension cable,

F5000-K013.
USB 3.2 gen2

included in chassis kit.
USB 3.2 genl

Aperture for rear
USB-C option.

Assembly screws: M2.5 x 6 (included in F5000-K013)
Mandatory torque: 0.4Nm

// 14 of 15 V1.1 www.kontron.com


https://ftp.kontron.com/main.html?download&weblink=3cb83a90a99c51160d2aa1f1f34cc340&subfolder=Products/Accessories/CableSolutions&realfilename=DS%5FF5000%2DK013%5FUSB%2DTypeC%2DCable%5FK393x%2Epdf

About Kontron

Kontron is a global leader in loT/Embedded Computing Technology (ECT).
Kontron offers individual solutions in the areas of Internet of Things (loT)
and Industry 4.0 through a combined portfolio of hardware, software and
services. With its standard and customized products based on highly reliable
state-of-the-art technologies, Kontron provides secure and innovative
applications for a wide variety of industries. As a result, customers benefit
from accelerated time-to-market, lower total cost of ownership, extended
product lifecycles and the best fully integrated applications.

For more information, please visit: www.kontron.com

Global Headquarters

Kontron Europe GmbH

Gutenbergstralle 2

85737 Ismaning, Germany
Tel.: +49 8214086 0
Fax: +8214086 111

pcmb-sales@kontron.com

// 15 of 15 V1.1 www.kontron.com

Copyright © 2024 Kontron. All rights reserved. All data is for information purposes only and not guaranteed for legal purposes. Information has been carefully checked and is

believed to be accurate; however, no responsibility is assumed for inaccuracies. Kontron and the Kontron logo and all other trademarks or registered trademarks are the property

of their respective owners and are recognized. Specifications are subject to change without notice. WP TSN-20220201 - WMH


http://www.kontron.com/
mailto:pcmb-sales@kontron.com

	1.  SMARTCASE™ S7xx: Model Overview
	2.  Delivery Kit & Accessories: Screw Overview
	3. Step 1: Preparing the Chassis
	4. Step 2: Motherboard Assembly
	5. Step 3: Installing Riser Card and HDD/SSD (optional)
	6. Step 4: Installing internal DC-in Module (optional)
	7. Step 5: Crossbar & Front USB Assembly
	8. Step 6: Closing the Chassis
	9. Step 7: Adding Stands (Chassis Feet)
	10. Step 8: Adding Wallmount Brackets
	11.  Step 9: Adding Rear USB-C Cable (optional)

